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1} Sce note 10292,
M b and ¢ both consist of x and a hall cycles, bul there are no good prounds for assuming cither that
they form a compasile unit crioncously sphil into two, of tha the point of transition between them is

wrongly placed.
teslim: there is a preceding comment: terkib-i merkion mikerrer oldubtan sonra {*[the e 5him comes)

afier sepetition of he above subsection” {ic. M c)).
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1) HYisadded in the margin, and the several brackewed additions come at points where the page cdge
hus been reduced.
H3 a4 is, srangely, represenied by four horizontally spaced dots,

3) Sunal 2524 1 =2, Suggested empo 4 = 240.

Fi#is rendered by Fr,
H2ad: J+4c, -3,

H2b1: S-6ddeisi 7).
HIb2: 7e,3: 6d



